SLC Program	Receiving Institution	Location	Agreement/Pathway	Credential	Credits Awarded	Total Credits Required	GPA Required	Normal time to complete	Website
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bbamba
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Marketing Communications (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Media	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/information-communication-and-media/information-communication-and-media-study-options/undergraduate/media
Advertising and Mktg Communications (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Communication and Public Relations	2 yrs (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BA-Communication- PR/Overview/BA-Bachelor-of-Arts-in- Communication-Public-Relations.html
Advertising and Mktg Communications Mgmt (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business majoring in Advertising	240 points (2 yrs)	360 points (3 yrs)	3	3 3 yrs	http://www.aut.ac.nz/study-at-aut/study-areas/business/qualifications/undergraduate/bachelor-of-business-phase-two-advertising

Advertising and Mktg Davenport University Communications Mgmt (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Marketing	90 credit hours (approx 3 yrs)	x 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Mktg Davenport University Communications Mgmt (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin/MBA - Strategic Management	90 credit hours (approx 3 yrs)	x 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Mktg Davenport University Communications Mgmt (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Management	90 credit hours (approx 3 yrs)	x 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Mktg Robert Gordon University Communications Mgmt (3 yrs)	Aberdeen, Agreement Scotland	BA (Hons) Management with Marketing	3 years (6 semesters)	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/management
Advertising and Mktg European University Communications Mgmt (3 yrs)	Barcelona, Agreement Geneva, Munich	Bachelor of Arts in Communication and Public Relations	3 years (6 semesters)	4 yrs		8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BBA-Business- Administration/Overview/BBA-Bachelor-s-Degree- in-Business-Administration.html
Any postgraduate University of South Wales certificate in any subject	Cardiff, South Agreement Wales	Entry to a postgraduate programme i a relevant subject area	n 1yr	1 yr		1 yr	http://www.southwales.ac.uk/search/?collection=south-wales-uni-courses&query=&f.Level%7CL=pg
Autism & Behavioural University of South Wales Science (post grad certificate)	Cardiff, South Agreement Wales	MA Special Educational Needs (SEN) (Autistic Spectrum)	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/1159-ma- special-educational-needs-sen-autistic-spectrum
BAA - Behavioural Davenport University Psychology	Grand Rapids, Agreement MI	Master of Business Admin - Strategic Management Concentration	4 yrs	39 credits	2.75 or bette (on a 4.0 scale)	r 39 credit hours ??	https://resources.davenport.edu/Portals/0/Registr ar/Articulations/cdn/6 2013- 2014 Graduate%20Program%20Information.pdf

BAA - Behavioural Psychology	Davenport University	Grand Rapids, MI	Agreement	Master of Business Admin - Health Care Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours??	https://resources.davenport.edu/Portals/0/Registr ar/Articulations/cdn/6 2013- 2014 Graduate%20Program%20Information.pdf
BAA - Behavioural Psychology BAA - Behavioural Psychology	University of South Wales University of South Wales	Cardiff, South Wales Cardiff, South Wales	Agreement	MSc Play and Therapeutic Play	4 yrs	1 yr 1 yr		1 yr 1 yr	http://courses.southwales.ac.uk/courses/841-msc-behaviour-analysis-and-therapy http://courses.southwales.ac.uk/courses/305-msc-play-and-therapeutic-play
Bachelor of Business Admin	Davenport University	Grand Rapids, MI	Agreement	Master of Business Admin - Strategic Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours	https://resources.davenport.edu/Portals/0/Registrar/Articulations/cdn/6 2013- 2014 Graduate%20Program%20Information.pdf
Bachelor of Science in Nursing (BScN)	Davenport University	Grand Rapids, MI	Agreement	Master of Business Administration - Health Care Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours??	https://resources.davenport.edu/Portals/0/Registr ar/Articulations/cdn/6 2013- 2014 Graduate%20Program%20Information.pdf
Behavioural Science Technology (3 yr)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Psychology with Behaviour Analysis	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/1409-bsc-hons-psychology-with-behaviour-analysis
Behavioural Science Technology (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits		4 yrs	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Behavioural Science Technology (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health-professions/programs-and-degrees/health-services-administration#objective
Biotechnology Advanced (3yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health-professions/programs-and-degrees/health-services-administration#objective
Biotechnology Advanced (3yrs)	Institute of Technology Sligo (ITS)	Sligo, Ireland	Agreement	BSc (Hon) in Medical Biotechnology	3 yrs	4 yrs	60%	5 4 yrs	http://courses.itsligo.ie/school-of- science/biomedical-science/bsc-hons-in-medical- biotechnology/
Biotechnology Advanced (3yrs)	Institute of Technology Carlow	Carlow, Ireland	Articulation	BSc (Hon) in Environmental Science	3 yrs	4 yrs	60%	5 4 yrs	http://www.itcarlow.ie/courses/type/undergradua te-cao-courses/science-health-courses/cw168.htm
Biotechnology Advanced (3yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Biology	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/51-bsc-hons-biology
Business (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of International Business	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://degrees.griffith.edu.au/Program/1107/Overview/International?SearchHash=WvdytO%2F8WHr%2FPaeCnzMEs68WUzE%3D

Business - Accounting (2 Davenport University yrs)	Grand Rapids, Agreement MI	Bachelor of Business Administration - Accounting Fraud Investigation	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-fraud-investigation-bba
Business - Accounting (2 Davenport University yrs)	Grand Rapids, Agreement MI	Bachelor of Business Administration - Accounting Information Management		4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-information-management-bba
Business - Accounting (2 Davenport University yrs)	Grand Rapids, Agreement MI	Bachelor of Business Administration/MBA - Professional Accountancy	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/professional-accountancy-bbamba
Business - Accounting (2 Davenport University yrs)	Grand Rapids, Agreement MI	Bachelor of Business Administration - Finance	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/finance-bba
Business - Accounting (2 European University yrs)	Barcelona, Agreement Geneva, Munich	Bachelor of Science in Business Finance	2 yrs (4 semesters) 3.5 yrs	7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate-Bachelor/BBA-Business-Administration/Overview/BBA-Bachelor-s-Degree-in-Business-Administration.html
Business - Accounting (2 Griffith University yrs)  Business - Human Davenport University Resources (2 yrs)	Nathan or Gold Agreement Coast, Queensland Grand Rapids, Agreement MI	Bachelor of Commerce  Bachelor of Business Administration - Management	120 CP (80 CP is the 240 CP (3 yrs) 2.6 (65%) equivalent of a full-time year of study) 60 credit hours (approx 120 credits 2 yrs)	3 yrs 4 years	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1 286 http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business - Human Davenport University Resources (2 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Administration - Human Resource Mgmt	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba

Business - Human Resources (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bbamba
Business - Human Resources (2 yrs) Business - Human Resources (2 yrs) Business - Human Resources (2 yrs)	Griffith University  Griffith University  Robert Gordon University	Nathan or Gold Coast, Queensland Nathan or Gold Coast, Queensland Aberdeen, Scotland		Bachelor of Business  Bachelor of International Business  Bachelor (Hons) Management with Human Resources Bachelor (Hons) Management Bachelor (Hons) International Busines Management	120 CP (80 CP is the equivalent of a full-time year of study) 120 CP (80 CP is the equivalent of a full-time year of study) 2 yrs	240 CP (3 yrs) 240 CP (3 yrs) 4 yrs	2.6 (65%) 2.6 (65%) 2.6/4 or 70%	3 yrs 3 yrs 4 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1 288 https://degrees.griffith.edu.au/Program/1107/Overview/International?SearchHash=WvdytO%2F8WHr%2FPaeCnzMEs68WUzE%3D http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate/management-with-human-resource-management
Business - Human Resources (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BBA-Business- Administration/Overview/BBA-Bachelor-s-Degree- in-Business-Administration.html
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Sport Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba

Business - Marketing (2 European University yrs)	Barcelona, Agreement Geneva, Munich	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs	7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BBA-Business- Administration/Overview/BBA-Bachelor-s-Degree- in-Business-Administration.html
Business - Marketing (2 Griffith University yrs)  Business - Marketing (2 Robert Gordon University yrs)	Nathan or Gold Agreement Coast, Queensland Aberdeen, Advanced Entry Agreement Scotland	Bachelor of Business  Bachelor (Hons) Management with Marketing	120 CP (80 CP is the equivalent of a full-time year of study) 2 yrs	240 CP (3 yrs) 2.6 (65%) 4 yrs 2.6/4 or 70	3 yrs % 4 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1 289 http://www.rgu.ac.uk/business-management-and-accounting/study-
Business (2 yrs) Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - Marketing	60 credit hours (appro 2 yrs)	x 120 credits	4 years	options/undergraduate/management-with- marketing  http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business (2 yrs) Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - Management		x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business (2 yrs) Florida State University (FSU)	Tallahassee Exchange Program MOU and WDW Resort in Orlando	12 FSU credits for course work and internship	NA	FT SLC student enrolled in Business, Hospitality or GAS	6 months (June Dec)	e - <u>www.disneyinternationalprograms.com</u>
Business (2 yrs) Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - Human Resource Mgmt	60 credit hours (appro 2 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba

Business (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - International Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/international-business-bba
Business (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Sport Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba
Business (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BBA-Business- Administration/Overview/BBA-Bachelor-s-Degree- in-Business-Administration.html
Business (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Management with Marketing	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/management
Business (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Management	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/management
Business (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Busines Management	s 2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate/international-business-management

Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Admin - Accounting Information Mgmt	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Admin - Accounting Fraud Investigation	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-fraud-investigation-bba
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Admin/MBA - Professional Accountancy	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-fraud-investigation-bba
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Admin - Finance	e 90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/finance-bba
Business Admin - Accounting (3 yrs)	European University	Barcelona, Agreement Geneva, Munich	Bachelor of Sciednce in Business Finance	3 years (6 semesters) 4 yrs	4 yrs (8 semesters)	http://www.euruni.edu/euruni/Programs/Undergraduate-Bachelor/BBA-Business-Administration/Overview/BBA-Bachelor-s-Degree-in-Business-Administration.html
Business Admin - Accounting (3 yrs)	IT Tralee	Tralee, Ireland Articulation	Bachelor of Business Studies (Hons) - Accounting	3 yrs 4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/Business/TL831-BBsHonsBusinessStudies/
Business Admin - Human Resources (3 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Admin - Human Resource Mgmt	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba

Business Admin - Human Resources (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	3 years (6 semesters)	4 yrs		4 yrs (8 semesters)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BBA-Business- Administration/Overview/BBA-Bachelor-s-Degree- in-Business-Administration.html
Business Admin - Human Resources (3 yrs)	Griffith University	Nathan, Logar or Gold Coast, Queensland	Agreement	Bachelor of Business (HRM)	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Search/Programs
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin/MBA - Strategic Management	90 credit hours (approx 3 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bbamba
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Marketing	90 credit hours (approx 3 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Sport Management	90 credit hours (approx 3 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba
Business Admin - Marketing (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	3 yrs (6 semesters)	4 yrs		8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate-Bachelor/BBA-Business-Administration/Overview/BBA-Bachelor-s-Degree-in-Business-Administration.html
Business Admin - Marketing (3 yrs)	Griffith University	Nathan or Gol Coast, Queensland	d Agreement	Bachelor of Business (MKT)	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Search/Programs

Business Administration Limerick Institute of - Marketing (3 yrs) Technology	Limerick, Articulation Ireland	Bachelor of Business (Hons) in Marketing & Management	3 years 4 years	60% 4 years	http://lit.ie/Courses/LC225/default.aspx
Business Administration IT Tralee - Marketing (3 yrs)	Tralee, Ireland Articulation	Bachelor of Business Studies (Hons) - Marketing	3 yrs 4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/Business/TL831-BBsHonsBusinessStudies/
Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Human Resource Mgmt	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba
Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - International Business	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/international-business-bba
Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Management	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin/MBA - Strategic Management	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bbamba

Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Marketing	90 credit hours (appro: 3 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business Administration Davenport University (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Business Admin - Sport Management	90 credit hours (appro: 3 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba
Business Administration European University (3 yrs)	Barcelona, Agreement Geneva, Munich	Bachelor of Business Administration	3 years (6 semesters)	4 yrs	8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BA-Leisure-Tourism/Overview/BA- Bachelor-of-Arts-in-Leisure-Tourism- Management.html
Business University of Florida General Arts & Science Tourism	Gainsville, FL Exchange Program MOU and Walt Disney World Resort in Orlando	12 UF credits for course work and internship	NA	FT SLC student enrolled in Business, GAS or Tourism	6 months (Jun Dec)	e - <u>www.disneyinternationalprograms.com</u>
Child and Youth Worker Davenport University	Grand Rapids, Agreement MI	Bachelor - General Business	90 credit hours (approx 3 yrs)	x 120 credits	4 yrs	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Child and Youth Worker Griffith University	Logan and Gold Agreement Coast, Queensland	Bachelor of Human Services	160 CP (80 CP is the equivalent of a fulltime year of study)	240 CP (3 yrs) 2.6 (65%	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1 098
Child and Youth Worker Griffith University	Logan or Gold Agreement Coast,	Bachelor of Social Work	140 CP (80 CP is the equivalent of a full-	320 CP (4 yrs) 2.6 (65%	4 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1
Child and Youth Worker Griffith University	Queensland Logan, Agreement Queensland	Bachelor of Child and Family Studies	time year of study) 160 CP (80 CP is the equivalent of a full-	240 CP (3 yrs) 2.6 (65%	3 yrs	372 https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1
Child and Youth Worker University of South Wales	Cardiff, South Agreement Wales	BSc (Hons) Childhood and Youth	time year of study) 3 yrs	4 yrs	4 yrs	095 http://courses.southwales.ac.uk/courses/1697-bsc-hons-childhood-development
Child and Youth Worker University of South Wales		BSc (Hons) Childhood Studies Top Up	3 yrs	4 yrs	4 yrs	http://courses.southwales.ac.uk/courses/515-bsc-hons-childhood-studies-top-up

Civil Engineering Technology (3 yrs)	Davenport University	Grand Rapids, MI	Agreement		90 credit hours (approx 3 yrs)	120 credits	4 yrs	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Civil Engineering Technology (3 yrs)	Institute of Technology Sligo (ITS)	Sligo, Ireland	Agreement	Bachelor of Science (Hon) in Construction Project Mgmt	3 years	4 yrs	60% 4 years	http://courses.itsligo.ie/engineering-and-design/construction/bsc-hons-construction-project-management-add-on/
Civil Engineering Technology (3 yrs)	University of South Wales	Cardiff, South Wales	MOA	BEng (Hons) Civil Engineering	3 yrs	4 yrs	4 yrs	http://courses.southwales.ac.uk/courses/567-beng-hons-civil-engineering
Civil Engineering Technology (3 yrs)	University of South Wales	Cardiff, South Wales	MOA	BSc (Hons) Civil Engineering Top-up	3 yrs	4 yrs	4 yrs	http://courses.southwales.ac.uk/courses/1031-bsc-hons-civil-engineering-top-up
Civil Engineering Technology (3 yrs)	IT Tralee	Tralee, Ireland		Bachelor of Science (Hons) in Civil Engineering	3 yrs with bridging	4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofScienceTechnologyEngineeringandMathematics/TechnologyEngineeringandMathematics/TL845-BScHonsinCivilEngineering/
Community and Justice Services	Davenport University	Grand Rapids, MI	Agreement		60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Networking Technology - Network Security	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/ bachelors-degree/networking-technology-major- network-security-bs
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt - Networking Specialty	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/technology-management-bs

Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Network Mgmt and Design	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/technology-management-bs
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/technology-management-bs
Computer Networking and Technical Support (2 yrs)	Institute of Technology Sligo (ITS)	Sligo, Ireland	Agreement	Bachelor of Science in Computing in Systems & Networking	2 yrs	3 yrs	60% 3 yrs	http://courses.itsligo.ie/engineering-and-design/computing/bsc-in-computing-in-systems-and-networking/
Computer Networking and Technical Support (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science in Information Technology Support	2 yrs	3 yrs	60% 3 yrs	http://www.ittralee.ie/en/InformationAbout/Cours es/SchoolofBusinessComputingandHumanities/Co mputing/TL614- HCinComputingInformationTechnologySupport/
Computer Programmer Analyst (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Computer Information Systems -Programming Specialty	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/computer-information-systems-bs
Computer Programmer Analyst (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Database Systems and Programming	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/computer-information-systems-bs

Computer Programmer Davenport University Analyst (3 yrs)	Grand Rapids, Agreement MI	Bachelor of Science - Technology Project Mgmt	90 credit hours (approx 120 credits 3 yrs)	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/computer-information-systems-bs
Computer Programmer Analyst (3 yrs)  Computer Programmer Institute of Technology Tralee (ITT)  Computer Programmer University of South Walandst (3 yrs)		Bachelor of Information Technology  Bachelor of Science (Hons) in Computing with Software Development  BSc (Hons) Software Engineering	120 CP (80 CP is the equivalent of a full-time year of study) 3 yrs  4 yrs	2.6 (65%) 3 yrs 60% 4 yrs 4 yrs	https://www148.griffith.edu.au/programs-courses/Program/OverviewAndFees?ProgramCode =1109 http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/Computing/TL710-BScinComputingSoftwareDevelopment/
Computer Programmer University of South Wa Analyst (3 yrs)	les Cardiff, South Agreement Wales	BSc (Hons) Computer Games development	3 yrs 4 yrs	4 yrs	
Culinary Management Barbados Community College	Bridgetown, Exchange Agreement Barbados	Associate Degree in Culinary Arts	1 yr 2 yrs	3.0 or 60% 2 yrs	http://bcc.edu.bb/ProspectiveStudents/ProgrammesOfStudy/AssociateDegreeProgrammes.aspx
Culinary Management Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - Management	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Culinary Management Davenport University	Grand Rapids, Agreement MI	BBA/MBA - Strategic Management	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba

Culinary Management / Dave Cook Co-op Diploma Apprenticeship		Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Culinary Management / Dave Cook Co-op Diploma Apprenticeship	•	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
, ,		Limerick, Ireland	Articulation	Bachelor of Arts in Culinary Arts	2 years	3 yrs	60% 3 years	https://lit.ie/courses/lc398
•	titute of Technology lee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts in Culinary Arts	2 yrs	3 yrs	60% 3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/HotelCulinaryTourism/BAinCulinaryArts/
Early Childhood Dave Education, 2 yr		Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Early Childhood Griff Education, 2 yr		Nathan or Gold Coast, Queensland		Bachelor of Arts majoring in: Creative Writing; History; Journalism; Screen Studies; Sociology	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%) 3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode =1021
Early Childhood Griff Education, 2 yr		Nathan or Gold Coast, Queensland	Agreement	Bachelor of Child and Family Studies	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%) 3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1 095
Early Childhood Insti Education, 2 yr (ITS)	titute of Technology Sligo		Agreement	Bachelor of Arts (Hons) Early Childhood Care and Education	2 yrs	4 yrs	60% 4 yrs	http://odl.itsligo.ie/business/ba-hons-in-early-childhood-care-and-education/
	titute of Technology lee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts (Hons) in Early Childhood Care and Education	2 yrs	4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofHealthandSocialScience/SocialSciences/TL880-BAHONSInEarlyChildhoodCareandEducation/

Electrical Engineering Technician, 2 yrs	Limerick Institute of Technology	Limerick, Ireland	Articulation	Bachelor of Engineering in Electrical Engineering	2 yrs	3 years	60% 3 years	https://lit.ie/courses/lc271
Electrical Engineering Technician, 2 yrs	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Energy Systems Engineering (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Energy Systems Engineering (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Renewable Energy Systems	3 yrs	4 yrs	4 yrs	http://courses.southwales.ac.uk/courses/868-bsc-hons-renewable-energy-systems
Energy Systems Engineering (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Sustainable Energy Science	3 yrs	4 yrs	4 yrs	http://courses.southwales.ac.uk/courses/868-bsc-hons-renewable-energy-systems
Energy Systems Engineering Technology (3 yrs)	Davenport University y	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Energy Systems Engineering Technology (3 yrs)	Institute of Technology y Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science (Hons) in Renewable Energy and Energy Management	3 yrs	4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofScienceTechnologyEngineeringandMathematics/AgriculturalManufacturingEngineering/BScHONSRenewableEnergyandEnergyManagement/

Environmental Tech (2 yr)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - General Business	60 credit hours (appro 2 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Environmental Tech (2 yr) Environmental Tech (2 yr)	,	Nathan, Agreement Queensland  Vlissingen, the International Exchange Agreement Netherlands	Bachelor of Science (Environment)  Bachelor of Water Management	120 CP (80 CP is the equivalent of a full-time year of study) 2 years	240 CP (3 yrs) 2.6 (65 4 yrs	%) 3 yrs 4 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode =1488 http://hz.nl/en/studyprogrammes/Bachelor%20De grees/Water%20Management/Pages/Programme.a spx
Fitness and Health Promotion (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - Sport Management	60 credit hours (appro 2 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba
Fitness and Health Promotion (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland Agreement	Bachelor of Science (Hons) in Health and Leisure	2 yrs	4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofHealthandSocialScience/HealthLeisureStudies/TL871-BScHonsinHealthandLeisure/
Fitness and Health Promotion (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland Agreement	Bachelor of Science in Coaching & Sports Performance	2 yrs	3 yrs	60% 3 yrs	http://www.ittralee.ie/en/InformationAbout/Cours es/SchoolofHealthandSocialScience/HealthLeisureS tudies/TL773- BScinCoachingandSportsPerformance/

Fitness and Health Promotion (2 yrs)	Limerick Institute of Technology	Limerick, MOA Ireland	BSc Sports & Strength Conditioning	2 yrs	3 yrs	60% 3 yrs	http://www.lit.ie/Courses/LC423/default.aspx
Fitness and Health Promotion (2 yrs)	Limerick Institute of Technology	Limerick, MOA Ireland	BA (Hons) Business Studies with Spo Management	orts 2 yrs	4 yrs	60% 4 yrs	http://www.lit.ie/Courses/LC295/default.aspx
Game Development Technician (2 yrs)	Limerick Institute of Technology	Limerick, MOA Ireland	BSc (Hons) Computing with Games Design & Development	2 yr	4 yrs	60% 4 yrs	http://www.lit.ie/Courses/LC418/default.aspx
Game Development Technician (2 yrs)	IT Carlow	Carlow, Ireland Agreement	BSc (Hons) Computer Games Development	2 yr	4 yrs	70% 4 yrs	http://www.itcarlow.ie/courses/type/undergradua te-cao-courses/computing-networking- courses/cw208.htm
Game Development Technician (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Science - Computer Science - Gaming and Simulations Specialty	60 credit hours (appro 2 yrs)	x 120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/computer-information-systems-major-computer-gaming-and-simulation-bs

Game Development Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/technology/bachelors-degree/technology-management-bs
Game Development Technician (2 yrs)	Institute of Technology Sligo (ITS)	o Sligo, Ireland	Agreement	Bachelor of Science in Computing in Games Development	2 yrs	3 yrs	60% 3 yrs	http://courses.itsligo.ie/engineering-and-design/computing/bsc-in-computing-in-games-development/
Game Development Technician (2 yrs) General Arts & Science (2 yrs)	University of South Wales  Davenport University	Cardiff, South Wales Grand Rapids, MI	_	BSc (Hons) Computer Games Development Bachelor of Business Administration - General Business	1 yr 60 credit hours (approx 2 yrs)	4 yrs 120 credits	4 yrs 4 years	http://courses.southwales.ac.uk/courses/562-bsc-hons-computer-games-development http://www.davenport.edu/programs/business/bachelors-degree/general-business
General Arts & Science (2 yrs)	Florida State University (FSU)	Tallahassee and WDW Resort in Orlando	Exchange Program MOU	12 FSU credits for course work and internship	NA	FT SLC student enrolled in Business, Hospitality or GAS	6 months (June Dec)	- www.disneyinternationalprograms.com
Geothermal Engineering Technician (2 yrs)	g Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Graphic Design	IT Carlow	Wexford, Ireland	Articulation	Bachelor of Arts (Hons) in Visual Communication and Design	3 years	4 years	60% 4 years	http://www.itcarlow.ie/international.htm
Graphic Design	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Graphic Design	Griffith University	South Bank, Queensland	Agreement	Bachelor of Design	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1 189&SearchHash=VMcvvnPz3K9JUDmDUgJTiDPZPI w%3D
Graphic Design	Griffith University	Gold Coast, Queensland	Agreement	Bachelor of Digital Media	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1 302&SearchHash=VMcvvnPz3K9JUDmDUgJTiDPZPI w%3D
Graphic Design	Letterkenny IT	Letterkenny, County Donegal, Ireland	Agreement	Bachelor (Hons) Visual Communications & Graphic Design	3 years	4 years	609	% 4 years	https://www.lyit.ie/full- timecourses/designcreativemedia/ly408/
Graphic Design (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BA (Hons) Graphic Communication	3 yrs	4 yrs		4 yrs	
Health Care Administration (post grad certificate)	University of South Wales	Cardiff, South Wales	Agreement	MSc Public Health	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/618-msc-public-health
Health Care Administration (post grad certificate)	University of South Wales	Cardiff, South Wales	Agreement	MSc Public Service Management	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/306-msc- public-service-management
Health Information Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Information Management	60 credit hours (approx 2 yrs)	c 121 credits		4 years	http://www.davenport.edu/programs/health-professions/bachelors-degree/health-information-management-bs
Health Information Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services- administration-bs
Hospitality & Tourism Management	Griffith University	Nathan or Gol Coast, Queensland	d Agreement	Bachelor of International Tourism and Hotel Management	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://degrees.griffith.edu.au/Program/1408/Overview/International?searchHash=rQceLMkA3CJLBEQeWuNzaDY2kxQ%3D

Hospitality & Tourism Management	Limerick Institute of Technology	Limerick, Ireland	MOA	BA (Hons) Business Studies with Event Management	2 yrs	4 yrs	60% 4 yrs	http://www.lit.ie/Courses/LC294/default.aspx
Hospitality & Tourism Management	Limerick Institute of Technology	Limerick, Ireland	MOA	BA (Hons) Business Studies with Travel & Tourism Management	2 yrs	4 yrs	60% 4 yrs	http://www.lit.ie/Courses/LC293/default.aspx
Hospitality 2 yr	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts in Hotel Management (Trainee Manager Development Program)	2 yrs	3 yrs	60% 3 yrs	http://www.ittralee.ie/en/InformationAbout/Cours es/ParttimeStudy/NationalTraineeManagerDevelop mentProgramme/
Hospitality and Tourism Management	n Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	c 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality and Tourism Management	n Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	c 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality and Tourism Management	n Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	c 120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba

Hospitality and Tourism European University  Management	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Leisure and Tourism Management	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergr aduate-Bachelor/BA-Leisure-Tourism/Overview/BA- Bachelor-of-Arts-in-Leisure-Tourism- Management.html
Hospitality and Tourism Robert Gordon University Management	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Hospitality Management	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/international-hospitality-management
Hospitality and Tourism Robert Gordon University Management	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Tourism Mgmt	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	https://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/international-tourism-management
Hospitality Davenport University Management - Hotel & Restaurant	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality Davenport University Management - Hotel & Restaurant	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality Davenport University Management - Hotel & Restaurant	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	c 120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba

Hospitality Management - Hotel & Restaurant	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Leisure and Tourism Management	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate-Bachelor/BA-Leisure-Tourism/Overview/BA-Bachelor-of-Arts-in-Leisure-Tourism-Management.html
Hospitality Management - Hotel & Restaurant	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Hospitality Management	2 yrs	4 yrs	2.6/4 or 70%	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/international-hospitality-management
Instrumentation and Control Engineering Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Instrumentation and Control Engineering Technology (3 yr)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Journalism	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Mechanical Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Medical Laboratory Science (3 yr)	Davenport University	Grand Rapids, Agreem MI		Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/college-health-professions/programs-and-degrees/health-services-administration#objective
Motive Power Technician - Co-op Diploma Apprenticeship (2 yrs)	Davenport University	Grand Rapids, Agreem MI			60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Music & Digital Media (2 yrs)	Davenport University	Grand Rapids, Agreem MI			60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Music & Digital Media (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland Agreem	ment	Bachelor of Arts in Music Technology	2 yrs	3 yrs	60% 3 yrs	This program does not appear in the 2020/2021 IT Tralee calendar - please contact Cyril Gavaghan for more information
Music Theatre - Performance	Davenport University	Grand Rapids, Agreem MI			90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Music Theatre - Performance	IT Sligo	Sligo, Ireland Articula		Bachelor of Arts (Hons) in Performing Arts (Acting Stream)	3 yrs (180 credits)	4 yrs	60% 4 yrs	https://www.itsligo.ie/courses/ba-hons-in- performing-arts/
Office Administration - Legal (2 yrs)	Davenport University	Grand Rapids, Agreem MI			60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Office Administration - Legal/Medical (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Office Administration - Legal/Medical (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Science - Health Services Administration	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/health-professions/bachelors-degree/health-services-administration-bs
Office Administration - Medical (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Office Administration - Medical (2 yrs)	Davenport University	Grand Rapids, Agreement MI	Bachelor of Science - Health Services Administration	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/health-professions/bachelors-degree/health-services-administration-bs
Paramedic	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Police Foundations	Davenport University	Grand Rapids, Agreement MI	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Police Foundations	Griffith University	Mt Gravatt and Agreement Gold Coast, Queensland	Bachelor of Criminology and Criminal Justice	120 CP (80 CP is the 240 CP (3 yrs) 2.6 (65% equivalent of a full-time year of study)	) 3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode =8024

Social Service Worker	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services- administration-bs
Social Service Worker	Griffith University	Logan and Gold Coast, Queensland	Agreement	Bachelor of Human Services	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode =1098
Social Service Worker	Griffith University	Logan or Gold Coast, Queensland	Agreement	Bachelor of Social Work		320 CP (4 yrs)	2.6 (65%)	4 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode =1372
Social Service Worker	Institute of Technology Sligo (ITS)	Sligo, Ireland	Agreement	Bachelor of Arts (Hon) Social Care Practice	2 yrs	4 yrs	60%	4 yrs	http://courses.itsligo.ie/business-and-social-sciences/social-care/ba-hons-social-care-practice/
Social Service Worker	University of South Wales	Cardiff, South Wales	Agreement	BA (Hons) Social Work or BSc (Hons) Social Work	1 yr	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/123-bsc-hons-social-work
Social Service Worker	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Health and Social care Management	1 yr	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/124-bsc- hons-health-and-social-care- management/?content=initial
Tourism 2 yr	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts in Travel and Tourism Mgmt	2 yrs	3 yrs	60%	3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/HotelCulinaryTourism/TL720-BATravelandTourismManagement/
Veterinary Technology	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Veterinary Technology	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health- professions/programs-and-degrees/health-services- administration#objective

Veterinary Technology Saint George's University	Grenada, WI MOU	Doctor of Veterinary Medicine	3 yrs	, a G	GPA 3.4/400 7 years at SLC and GRE above 190	http://www.sgu.edu/school-of-veterinary-medicine/preveterinary-bs-dvm.html
Veterinary Technology, IT Tralee 3 yrs	Tralee, Ireland Articulation	Bachelor of Science (Hons) - Veterinary Bioscience	3 yrs	4 yrs	60% 4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofScienceTechnologyEngineeringandMathematics/BiologicalPharmaceuticalSciences/TL858-BScHonsVeterinaryBioscience/
Visual & Creative Arts - Davenport University Fine Arts (2 yrs)	Grand Rapids, Agreement MI		60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Visual & Creative Arts - Institute of Technology Sli Fine Arts (2 yrs) (ITS)	igo Sligo, Ireland Agreement	Bachelor of Arts in Fine Art	2 yrs	3 yrs	60% 3 yrs	http://courses.itsligo.ie/engineering-and-design/fine-art/ba-hons-in-fine-art-add-on/
Welding & Fabrication Davenport University Technician (2 yrs)	Grand Rapids, Agreement MI		60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Welding & Fabrication Davenport University Technician Co-op Diploma Apprenticeship (2 yrs)	Grand Rapids, Agreement MI		60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Wind Turbine technician - Industrial Electrician Co-op Diploma Apprenticeshi (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4	l years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Wind Turbine technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 120 credits 2 yrs)	4	l years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
	Griffith University	Nathan, Queensland	Agreement	Bachelor of Environmental Management	120 CP (80 CP is the 320 CP (4 yrs) 2.1 equivalent of a full-time year of study)	.6 (65%) 4	l yrs	www.griffith.edu.au/international